Maths Week 14

Parents please show them the PowerPoint slides for Year 3&4 to introduce them to the topic.  

Your child knows which sheets they usually do in class. The sheets are labelled with:
D means Developing (easy)
E means Expected (middle)
GD means Greater Depth (challenging) 

Once they finish the developing, they can do the expected worksheet for their challenge. 

The expected children can progress to greater depth once they finish the expected questions. 

Make sure you write your L.O and date in your book. There is one PowerPoint for each day.  

Please note- You do not have to print out any work. Children should date and number their work and show any working out in their books like they usually do in class.
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1a. The fable shows how many sweets are shared into party bags for different age
groups. The sweet numbers increase for each age group by § each fime. There are 5
age groups in fofal.

AgeGroup | 45 | 47 | 89 [10-12] 12+

Number of sweets| 8 | 13 23

Complete the table and answer the questions.

. How many age groups will get an even number of sweets?
b. How many sweets will the 8-9 age group get?

i

2a. Afifa wiites the following statements using the information in the table, spot two
mistakes she has made.

Twenty children answered the survey.
Less than half of the children have no pets.
Girls have more pets than boys.

There are no even numbers in the boys' results.

No pets 1pet 2pets
Boys 3 7 3
airls 2 8 1

creates some questions using the fable below.

How many prefer the seaside?
Beach ige| Mountain
o Countryside Saiing
How many people didn't vote? Holiday e walks 9
Do more people prefer the 1 1 s 5
countryside or the mountains?

Which of Felicity's questions cannot be answered using the fable? Explain why not.
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1b. The table shows the weekly points score for a local rugby feam. The score
increases each match by 2 each fime. There are & matches in fotal,

Match

Final Score

10

16

Complete the table and answer the questions.

. How many points were scored at the fifth match 2

b. How many points

i

they have affer they had played three matches?

2b. Roy writes the following statements using the information in the fable, spot two

mistakes he has made.

There are 40 trains per day altogether.
More frains ravel to London on both railways.
The Magnificent Line runs ten more frains to London than Edinburgh.

London | Edinburgh
Greatest 0 N
Railway

Magnificent 14 s

w

3b. Wilf creates some questions using the fable below.

How many more people
prefer jigsaws than pai

How many adults prefer reading?

Children | Adults

Jigsaws | 7 s

Paining | & 4
15 2

Which of Wilf's questions cannot be answered using the table? Explain why not.
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